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Time : 2 Hours
[ Second Year — March 2017] Cool off time : 15 Minutes

Part — 11

SOCIAL WORK
Maximum : 60 Scores

/General Instructions to Candidates : \
® There isa ‘cool off time’ of 15 minutes in addition to the writing time of 2 hrs.
® You are not allowed to write your answers nor to discuss anything with others
during the “cool off time’.

e Use the “cool off time’ to get familiar with questions and to plan your answers.

e Read questions carefully before answering.

e All questions are compulsory and only internal choice is allowed.

e When you select a question, all the sub-questions must be answered from the
same question itself.

e Calculations, figures and graphs should be shown in the answer sheet itself.

e Malayalam version of the questions is also provided.

e Give equations wherever necessary.

® Electronic devices except non-programmable calculators are not allowed in the
Examination Hall.

M1BC3U63BUJ :

® mIdglay WAODIN anooa 15 2lmlg ‘@l B0ad ©9So’ REBIVIGlB)o.
DY ALOVOD  GaldBIEBURY  DOMOO A PIMIEMI,  AQBBOIO)AOW
@RYUAIMIao MSOMOECMO aloslel.

® HOMOBBUB af)PIMIMMIM MM G2l03468BU3 (VORLOANBQo AUOWVBHEMo.
®  a))EI0 GaldBLERUIN OO0 af)PIMEMo.

® 30 G108y MMIA DOMOHDY}MIM BIOIBR MOISNQO) GO @3
9alG2103)68B8)o @REM G2103 MMUAIG WA @OAN HDMOEEINMSICANENBDEN.

®  HeMIE )SLNHUB, afll(®BBW, (VIa0)dUB agyamla DOMOGala|0lT3 @6AN
06N30W1dlenemo.

®  (2103)63BU3 DNLIVOSOMIEN0 MDBIVIS)6NE.
@RYAINIMBS TLOLICID TVAAIIG:YEBBUT HdBIS)BNEMO.

® GLNWINHWB  DalQOIMIKHITM  HITINCLIYO)NHUWD  BFlOHWBB  B0)
MLIHESIEMID DaldhOeMAlo ald1d:HIa00EIT DalcWOUTHN)AI0M aldslel. /

5033 1 P.T.O.




5033

Choose the correct answer from the following (Qs. 1-8). Each question carries one
score.

The diagnosis in which the case worker attempts to classify the client by the nature of
the problem and its relation to the client is terms as

(@ Dynamic diagnosis
(b) Etiological diagnosis
(c) Clinical diagnosis
(d) Social diagnosis

The sum total of all activities and services directed towards helping an individual with a
problem is termed as

() Rapport

(b) Psychosocial study

(c) Treatment

(d) Environment modification

The process of transforming social policy into social services is known as
(@) Social action

(b) Social administration

(c) Social welfare administration

(d) Social legislation

The person or group for whom the communication is intended is termed as
(@ Encoder

(b) Decoder

(c) Transcriber

(d) Transmitter

SGSY programme is launched in the year

(@ 1952
(b) 1986
(c) 1999
(d) 2005



®I9Y®  H@IS)OMISISSUVIGIMITN  VOIVIV DMV  AHDANEIVINS) AN >
(ca12. 1-8). 32609 Gal23yO®IM)o 1 AVEBH03 arlmo.

1. 905G (aIMO®IOE  ALILAICIHIN) GRMAVAEla] CHAV AIBHHEG MSOYA
wdIemomilqdlom aflewoatlaleoyano :

@ eowmony; awHEMITVIANS

(b) oFlewosHlendd avwdiemoavlay
() KDoomd wwdiemoavlay

(d) cavoauy@ awwdiemoavlany

2. (al0®  MIWIOMI® B0} AYSDIOV  AVAOIVBNAMDIMIV]  HalQaD  af)Lld
(aIQIBOMMEBBBIESWIo BAVLAIMEEBB)ESWVW)o BRYHE: M)HOHW alOWIANG

(@) 09Gajods

(b)  ©OAVEHHOEAVOUIES qRAL]

() ©genad’

(d) op@alcwosmenad” e@0WlarleesaHd

3. aLOMaOy MWEBBHB ALIMAOY GIVAIMEBIOGE] MY (A I(GHVWOW BROIWHA|S}AM D)
(@) VoY@ @RYLHM
(b)  caVoauy@ @RAAMITVESAHN
() IV ® HAIBINANWAB @RASAIMITVE(SaH

(d) eaLonuy@d eelEleayauad

4, @O0 9G3UI2J0CIMI @RUVAINMIA® MSAMMM® @R AYEDIHW @ROLIE103
W)aflom @ROIWH.|SIAM® !
@ apBesmIWd
(b) aleaoawad
(c) (somaves(:mid
(d) (soadaallgd

5. SGSY ¢laonoo ose@Blw aidaHo

(a) 1952
(b) 1986
() 1999
(d) 2005
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10.

11.

12.

13.

14.

15.
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Which among the following is not non-communicable disease ?
(@) Diabetics

(b) Bronchitis

(c) Asthma

(d) HIN1

Who is the exponent of Non-directive counselling ?
(@) Carl Rogers

(b) F.C.Thorne

(c) Shostorm

(d) Eric Berne

Paedophiliaisa/an
(@) Lifestyle disease
(b) Sexually transmitted disease

(c) Sex deviation

(d) Epidemic disease (Scores:8x 1=

Expand NUHM. (Scores :

What is the measure used by UNDP to assess the progress of a country ? Give three

indicators of this measure. (Scores :

What are the components of social case work ? (Scores :

Write down any six strategies of social action. (Scores :

What are the components of wellness that ensure good health ? (Scores :

What are the elements of school health programme ? (Scores :

What is the meaning of stroke in Transactional Analysis ? (Scores :
4

8)

1)

2)

3)

3)

3)

3)

3)



6. 099 a0 TVIo(Bald GROWO m%omd?
@ (a1ema00
(b)  wIDVMO8 GO
() erava
(d) HIN1

7. emoem-aslogylal evemavleilodilond alemoal @G ?
@ ®oud coocmAdAV
(b) agyad.avl. e@oem
() cauoaVG(SO0

(d) agOols; ceniem

8.  ®alawoaflel® agan®
(@) 80) Rlalo eswvoell cGEowo
(b) eorIWG: GOIWO
() earvead awlaileauad

(d) a1d»Bajaryowl oMo (anSedadav : 8 x 1 =8)

9.  NUHM-6a andemo)alo. (neoday : 1)

10. &) odmyO®IOM ancooV®l  aileidloyemomowl  UNDP  g@alcwouilepyan

@RBANEHMHOD aB® ? aBO®ESIL0 M)A AV ld6BBUB ag)PId. (neaadav : 2)
11, cmoaHy@d GHHav QIRSH] ALISH:EEBUD agal ? (aSedadav : 3)
12, emoauy@d @ERBHOG aBOMBIEN0 @RYO) MAMEIBU af) L)) d:. (nedodav : 3)
13.  mel GrEEIN Lo VORJOBNID HAIGOHMINIHNG *LISHEEBUS agal ? (aSedadav : 3)
14, aUd)ud GRGowY aldlaloSlw)es ALISH@BUW agal ? (e a3av : 3)

15.  “(soadavosem@d @pmoellailayl’@d ‘abesossl 93 GrA@INo agamoen ? (aieaodad : 3)
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22.

23.

24.

25.
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How will you help a person with Depression ? (Scores : 3)
Match the following :

1) | IAY Infrastructure

(2) | RGNDWM Drinking water

(3) | JIGSY Housing scheme

(4) | NASP Connectivity

(5) | Bharat Nirman | Pension Scheme

(6) | MGNREGP Livelihood security (Scores : 3)
If you are asked to study the attitude of adolescents towards smoking, what steps will
you follow ? (Scores : 3)
Briefly explain any three essential skills required for counselling. (Scores : 3)
What are different phases of social group work ? (Scores : 3)
List out various International Associations is Social Work. (Scores : 3)
What is the structure of NHM ? (Scores : 3)
Present arguments in favour of family planning. (Scores : 3)
What are the difference and similarities of Community Organization and Community
Development ? (Scores : 5)
Explain the process of communication using a diagram. Discuss various barriers of
communication, (Scores : 5)
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Qflato3 CEONMB8 B0) AUYEMINW MI@BUT af)e@BOM MVandVlee)e ?  (MVeo3aV :

G210)0alS] Gal@HN)D:

(1) | IAY MDAV (S alB

(2) | RGNDWM 3)S190I8B0

(3) | JIGSY a10Bafls midslo

(4) | NASP Hemaglailgl

(5) | 8O® @1Gan0emd DalBaHd aVdslo

(6) | MGNREGP DalRIUM TV}ONHH (arSe@oday :

al)»elo® &0l )88  HDDOOHENIV)OS DEMOBIAI0  aldld®)Am  M1EBEs0S
@YUMDY ]S} HVINMEITS af)IMEI0 MSalS] (HAEBBIM MBS aloeilee)s ?

(e o3av :

SHOMAVlelow]n) @RYAIKdYo GAIMZ)AN aGO@EsIEN0 MAN HOMaMIEBOS d)0la]

2O} )9} D). (@030
GaLOaUY@3 (N)a] AIdeslaald allaillw crIgEBW agal ? (anSedadad

aflailw ERANOVAH(S MVOMAOY (AlAUBAME: TVCLISMG:SINS alSld: MQOOIBN)d:.

(avc 230
MIHEM@S HaOGIO AloHHY CLISM ag) DG ? (neamad3av

)SJ0NIOAVY@EMHO BRM)BANGHaN MIEI Q1036308 @RAIMG]a|len)d:.

(aScdodav

HmMPMIG  B0BWOHOMETVaUM)o  HIYEVIGl  HAWwalLlIOnMo  @oilenss

QI@LOVLAN0 TVRIMD B0 aBl ? (Seaadav :

80)] WVWo ©alcIWla] GRW® AlWI2Y (@&l allveleelen)d. @YU

QllM2ODIOL! (aIWOM MSAREBUS 21082 O2lQ)d. (neodaV :

3)

3)

)

)

:3)

:3)

)|

5)

5)



5033



